Math 21B
Vogler
Trig Identities and Antiderivatives

You need NOT memorize identities number 1.) through 4.).

1.) sm(A-i—B) =sinA cos B+ cos A sin B
B)=sinA cosB—cosA sinB

2.) sin(A
3.) cos(A + B) =cosA cosB—sinA sinB
) cos(A =cosA cosB+sinA sinB

COSs

B) =
B)

You MUST memorize the following identities and antiderivatives.

5.) cos?z +sin’z = 1
6.) sin2x = 2sinz cosx

7.) cos2x =2cos’z —1 sothat cos’z

2

=1-2sin’z so that

= cos?z —sin’z

8.) 1+tan?z =sec?z  so that
9.) 1+cot?z =csc?z  so that

10.) /cosx dr = sinz+C 20.)
/sin:v dr = —cosz+C

/seczx dr = tanz +C 21.)

/csc z dr = —cotz+C

/secm tanxz dxr = secx+C
/cscx cotr dr = —cscax+C

16.) /tana: dr = In|secz|+C
/cot:c dz = In|sinz|+C

18.) /sec:r dr = In|secx +tanz|+ C
/cscac dz = In|cscz —cotz|+C

sin“ x =

tan? ¢ = sec
cot? x = csc
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